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Note : Answer from both the Sections as directed. The figures in the right-hand margin indicate marks.

Wus /Section-A
1. fr=fafaa Ry oy Sadg yel & Sk AfTY — 1x10=10
Answer the following Very short-answer type questions:
(a) sivTfaT &= | a7 AR © 7
What is meant by unorganized sector?
(b) Sfra Ao =T & ?
‘What is fair wages?
() aienfires <<l &1 7&g yWe 5w W gedr 8 7
Which factor affected by industrial relations?
(d) TrfoTe ST @ 39 TG W © 7
What do you mean by social insurance?
(e) ¥ WY HiCed T ATES © 7
Why trade union movement is must?
() word Ny § o I ® ?
What do you mean by wage policy?
(g) 5/ Y SUGHAT § FAT AW & ?
Discuss the meant by labour productivity?
(h) sifer ST < AT o1 S @Ral § 7
What does all India trade union do?
(i) s afeTae & My FaT FHE § P
What do you mean by labour legislation?
(j) wored A R & PIg & HRY ferray ?
Write any two causes of difference in wages.
2. Frafafad oy Saiid 9 & Iw <ol — 2x5=10
Answer the following short answer type questions:-
(a) WRd &M qoTR F BIg af gy fakag |
Write any two characteristics of Indian labour market.
(b) ¥Rd ¥ SICHAT T BN B DIy & DR ARG |
Write any two reasons for the low productivity in India.
(c) after sifiwt & w1 wHRN © 7
What are the problems of female labour?
(d) FHAIfTe qReT & BIS & Iawd farag |
Write the two objectives of social sccurity.

(€) & 31 IR &m wul & R AW forfag |

Write any two full names of Indian labour unions?




Hus /Section-B 12x5=60
Pt 9 sed weil & ser AR |
Answer the following long answer type question.
1 AR fw wor FuiRa 2l @ ? Jogd @ waifia ox e aet a1 avi iR
How are wages determined? Descrifl;f the factors affecting wages.
0
IRT & sitenfie e & sm w8 g sa=d |

Discuss the role of trade union in the industrial development in India.

<2 aﬁaﬁzﬁﬁaﬁaﬁﬁmaﬁa%mmsﬁmwﬁﬁﬁvhzﬁﬂmaﬁﬁawﬁ%m

Discuss the importance and value of conciliation and arbitration in the settlement of
industrial disputes. o0 B~

HEIfeTs 1M1 g i et § oR qarsd | wriie wsrdr R gRRefRar §
e Bl § ?

Distinguish between social insurance and social assistance. Under what conditions is the
latter advisable?

AR F {57 SR ¥ a1 o w7 e SudnT R e § ? sme wefy ¥ A sm
@ WV B R T fiRew arawen aeh @Ry |

What are the industries in which child labours is largely employed in India? What
additional measures of protection of child labour do you consider necessary?

o
HorgX! T | T AR § ? T UL Ao N D Frafor 3§ 5wt @) e §
G AR |
What do you mean by wage policy? What consideration should be borne in mind
while chalking out the national wage policy?
4- <=y 3R S I ARG GReET R ve e ey |

Write an essay on state and social security of labour.
H

Y-
Wﬁﬁﬁﬁﬁmmﬁ@%@mm%?mﬁﬁg&ﬁﬁ?

What are the causes of low efficiency of labours in India and how remove its?

g WRa ¥ sfE el B gdeiar & BT S | $W DY X AT O Hoar & ?
Discuss the weakess of trade uniog nﬁvement India and how can it be removed?
ARG DI TF 39 AT fEa S & ? 5% S SrieH & Twedr @ o
g Dfg |
What are the major labour welfare activities in India? Give the suggestions for
success of labour welfare programmer.
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